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CE309 ROBNG: ¢ ccicisinissiinensmvans
Spl. 2020
CONSTRUCTION MANAGEMENT AND ACCOUNTS
Fraifa wg . 792 [Arhan 3 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Ae: () I I I 8, 519 4 8 6T R & 35w o |
Note : Question No. | is compulsory, answer any FOUR questions from the remaining.
(ii) % J77 F G 47T 1 FHEAR 0F T 5T L
Solve all parts of a question consecutivel ly together.
(iii) % I F1 73 78 & IRE7 o |
Start each question on fresh page.

(iv) g1 91137} 5 31 87 %) 1Rf 7 3t spgame & wrr @ |

Only English version is valid in case of difference in both the languages.

Lo () "diwm. b foew 0 yesia s sman &

(a) et (b) @&
(c) Tfafafy (d) 3E"
The particular task performance in CPM is known as -
(a) Dummy (b) Event
(c) Activity (d) Contract
(2) Hrd1.un. Heash g wfafafts g s oS SR
(a) I (b) ger
(c) I8 (d) I9rE aft
Completion of a CPM network diagram is commonly known :
(a) Connector (b) Event
(¢) Node (d) All the above

(10f12) P.T.O.
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(3) 9 favarsur smarfE 2
(a) ITIETE GHY T (b) Troemar ana =
(c) Hatfie GuTeET a9 © (d) 3ue At
PERT analysis is based on :
(a) Optimistic time (b) Pessimistic time
(¢) Most likely time (d) All the above

(4) .dwn. grr O aREisHT F aee fraton e g

&)

(a)

(b)

(©)

(@

s aftata i fafi nfafafeet § feufa fearmn g
sce fafafy & foe smavas vug wnfya 2 |

fafi wfafaferi &1 o 37 mee & @R ST TR |
IR |t

While scheduling a project by CPM :

(a)
()
(©
(d

A project is divided into various activities
Required time for each activity is established
A sequence of various activities is made according to their importance

All the above

7= 1 & v Jeas oM@ A FEfa T 2

(@

(©)

I (b) g
nfafafy (d) R

Which of the following is not related to network diagrams ?

(a)
©

EOQ (b) Event

Activity (d) Float
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TR 91 39T &

(@) BRwH (b) gE P

(c) <t ufEeE (d) 39U Tt

Bar Charts are suitable for

(a) Minor works (b) Major work

(¢) Large projects (d) All the above
et wiearsn < faftrs nfafafiel, e wfemE s 2 -
(a) FERI@R (b) &fcwt@rd

(c) faga d =FEI

Various activities of a project, are shown on bar charts by
(a) Vertical line (b) Horizontal line
(c) Dots (d) Crosses

s oot mfafafe :

(a) FEMEFCAMA AR (b) Toiger v g auih w2
(c) FEHFIMMAGFE ~ (d) ITwaf

A dummy activity :
(a) is artificially introduced (b) represented by a dotted line

(c) does not consume time (d) All the above

(9) U RS & QU8R & ford, Feash &1 i< Y guiial 8

(a) 3iferepaw w0y (b) ~FAH AP

(c) —gAaq a9d (d) 3iferean @rE

For completion of a project, the critical path of network represents
(a) Maximum time (b) Minimum cost

(¢) Minimum time (d) Maximum cost
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(10)

(11)

12)

(13)

(4 0f 12)
fmfor g &1 s @
(a) fFar (b) aRGHER
(¢c) waa aifeis (d) 39T ot
Construction team means
(a) Anengineer (b) An architect
(c) Owner (d) All the above
3 v uae sfufyafia fomar mn
(a) 1928 (b) 1926
(¢ 1916 d) T Y HE
Trade Unions Act enacted in :
(a) 1928 (b) 1926
(c) 1916 (d) None of these
=1 4 & = a1 ahEism yeve & s T aEi R 2
(a) S H I (b) fEeET frafor
(c) ufrsET faaor (d) RS gE
Which of the following is not a phase of project management ?
(a) Project planning (b)  Project scheduling
(¢)  Project controlling (d) Project being
TS TS &1 J&T ThaH 2
(a) HSTEET (b) EERH @™

(c) 3fief W 9 %m W 3me (d) 3w ot
The main disadvantage of line organisation is

(a) Rigid structure

(b) Extraordinary delay in communication

(¢) Top level execution over work

(d) All the above
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(14) 3cUTCHAT ScATE WA T 21
(a) HM (b) <&l
(©) (a) 3 (b) B (d) T 8 HE T
Productivity is the of production system.
(a) Measurement (b) Efficiency
(c) Both (a) and (b) (d) None of these
(15) &= U161 Shl IATCHAT i FGTIT T Thal &
(a) Teamsa &1 3fw@ == (b) |t G ITE
(c) by fmmr (d) Iuie @h
Raw material productivity can be increased by
(a) Proper choice of design (b) Reuse of material
(¢) Scrap control (d) All the above
(16) Torer R sfetfesmsa & Fifeni HE § Heg Har g S T amn
ana 21
(a) rferehan, Sgreht (b) e, STt
(c) ifereham, werdt (d) =T, Ferdt
Quality control helps to the risks of overdesign that the
overall cost.
(a) Maximize, Increase (b) Minimize, Increase
(¢) Maximize, Decrease (d) Minimize, Decrease
(17) ETa % g % &9 § gifter &1 Jems= 21

(a) Huisal g forerl #t srafed &
(b) G 3T EETGAT T 3EEA
(c) HI &I G

(d) 34 HETE

Delegation of authority as principle of organization means
(a) To allocate duties and responsibility

(b) To allocate funds and resources

(¢) To allocate time

(d) None of these

P.T.O.
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(18) Ffafga & @ S a1 yeva T 787 2 -

(19)

(20)

(21)

(@) TS (b) W
(c) wEam (d) T
Which of the following is not a function of management ?
(a) Planning (b) Staffing
(¢) Co-operation (d) Controlling
TEA &
(@) el (b) fagm
(c) e 3t fygm 2t (d) i TE
Management is
(@) Anart (b) A scienf;e
(¢) Both art and science (d) Neither

__ U T 1 fofa o aren Rem 2
(a) forbeiieptoy (b) weTEH
(c) Toramenes draw d) g

is the decision making body of an organisation

(a) Decentralisation (b) Administration
(¢)  Function Organisation (d) Leadership
Y99 & fagra 1 5977 & wEwy # |
(a) TwarHgfg (b) B

(c) HETEI % 387 Iy (d)  =eerdt steifireh @1 srgpem

The principles of management are significant because of
(@) increase in efficiency

(b) initiative

(c) optimum utilisation of resources

(d) Adaptation of changing technology
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7 4 @ 319 a1 31redt e @ frgra AE & 7
(a) S IATEEA § THEA (b) wEuT Y Iafy
(c) EaTEH Hi T (d) w1 faam
Which of the foliowing is not a principle of ideal organization ?
(a) Unity of job assignment
(b) Span of management

(c) Number of operation

(d) Separation of work

¢8 gfm ffam & qed T B F AR GShwwr F ol 3w afe %
AT % ford srravass wfire i =maw g w= anft 2

(@ 10%31100317 (b) 74w

(c) 10% (d) 100

What will be the minimum number of workers required for organising a trade

union for registration according to last amendment under Trade Unions Act ?

(@) 10% or 100 or 7 (b) 7 workers

© 10% d 100

T | B Ui Y afearer T R 2

@ ZTIREHTRBAGE (b)) wTemfREITRE AR |
(c) FEUEH HEGER | d) wRFTRGEE |

Which of these is not a definition of Quality ?
(a) [Itis fitness for purpose.

(b) It is guarantee for work done.

(¢) It is customer satisfaction.

(d) Itis value for money.
P.T.O.
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(25) TorEEl e S T wEE # 7
(a) femior smre o st (b) u e i srevEwa
©  (a) 3 (b) T (d) Faci(a)
What are the advantages of quality control ?
(a) Reduction in construction cost
(b) Less inspection required
(c) Both(a)and (b)
(d) Only (a)
(26) QAR
(a) wIfTd e (b) @A IwERE
(c) Wit gare d) @i s
QA stands for
(a) Quality assessment (b) Quality assurance
(¢)  Quality approval (d) Quality appraisal
(27) TUTEET JTYETET HAME |
(a) T fewmga (b) T[UTSRIT FHTETAT 3R TG
(c) TTETTYYl HaT (d) 3w ot
Quality assurance is a sum of
(a) Quality design (b) Quality conformance and performance
(c) Quality service (d) All the above
(28) Trfafaa # @ w4 @1 w we w1y @2 2
(a) hshie I T (b) etars ht fefFem
(c) TRl & @K (d) 4 H T

Which of the following represents an event ?
(a) Concrete cured (b) Fixing of door

(c) Plastering of walls (d) Selecting site
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(29) Tl rveE frveryur At wav % frg % 3 Ao & fem S wwan 2 2

(a) EmEf AT (b) Tt It
(c) Tt S d) wie

Material wastage analysis can be done through which function of material

management ?
(a) Material planning (b) Material production

(c) Material accounting (d) Procurement

(30) Freiferfiaa & & @ Fufor o H = E R 2

(a) fafea (b) FTHeH

(c) gt (d) wadd

Which of the following is not a phase of construction project ?

(a) Tendering (b) Estimation

(c) Briefing (d) Commissioning (1x30)
2. o wfw feoaforad fafigd

Write short notes on following :

(i) «wEr
Bar chart
(i) HH-FE
Measurement Book
(i) w9 THA™

First prevention

(iv) Tomior 5 Icargehan

Productivity in construction

(v) =t.37.3.

B.O.T. (2%5)
P.T.O.
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3. (A) "R=R i Smisi i forga samen Hif |

Discuss limitations of Bar chart in detail.
(B) @A & fagial = guzmsu |

Explain the principle of organization.

4. FFH B AW w6t i RARed w sige am st w5 awee |

1038

S

(3)

Write down the General conditions of contract and explain the Contract Labour Act. (10)

5. () e & ford srravas aei anait w wfm R Rt |
Briefly describe the technical services required for inspection.

(B) %mﬁmﬁ%m%ﬁﬁaaﬁﬁaﬁamﬁn

Explain the methods of recording progress of a project.

6. Fd o Hifae ;
Differentiate the following :
(A) PERT U CPM
PERT and CPM
(B) @ w37 s Hrafcrs dieq

Line organization and functional organization

7. (A) %rmﬁ%%igmaa‘gtmﬁsﬁﬁwmmﬁﬁmwé ?

What are the precautions required for storage and safety of materials ?

(B) mm%ﬁﬁamﬁﬁmﬁﬁm

Explain the various aspects of labour welfare.

S)

)

)

)

S))

B))
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8. Fmfor qf@ismT 6t g & fafim = w ==t # |

Discuss various stages in planning of construction projects. (10)

9. (A) Tamiu sai % gamHi i ==t Hifw |

Discuss the resources of Construction Industry. (5)

(B) 3=y yor@ qt aftry feoqoft fafam |

Write a short note on Contract document. (5)
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